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PERIODIC TEST-I (2025-26) 

SCIENCE MARKING SCHEME 

Class: VI                                                                                                                 Time: 1hour 

Date: 07/07/’25                                                                                                    Max Marks: 25 

 

   

SECTION- A  

1. (c) Pea                                                        1 

2. (c) Curiosity                                  1 

3.  (b) To understand the world we live in and uncover the secrets of the universe.   1 

4.  (d) Habitat                                           1 

5.  (b) Thick fur on their feet                                   1     

 

SECTION- B  

         6. Snow leopard, yak.                    1+1 

         7. Shrubs are medium-sized plants with thin woody stems and branches at the base and    

            closer to the ground. Examples: rose and Hibiscus.  1+1/2 +1/2  

 

         8. If it stopped raining on Earth, consequences for ecosystems, agriculture, and human   

           societies Ecosystem Collapse: Water Scarcity: Drought and Desertification:                  

            Crop failure: Global Temperature Increase:         1+1 

         9.                                                                                                       2 

 

SECTION-C   

 

10. Earth is unique as the only known planet supporting life, showcasing diverse ecosystems 

and species that thrive across different regions.             1.5 

    Water is highlighted as essential for life and described through its various forms and uses, 

from rain and freezing to boiling and hydration                 1.5 

    11. The movement of animals from one place to another is called locomotion. Humming bird 

use their wings, Snakes use their scales to slither etc.             1+1+1 



CL_6_PERIODIC TEST-1_SCIENCE_MS_2/2 
  

 

    12. * It is desirable for the pumpkin to creep on the ground because it cannot bear the weight  

            of the plant.  

       * The large, heavy fruits are better supported when the plant creeps on the ground. 

      * If the plant were to grow upright, the stems might not be strong enough to hold the weight   

         of the fruits.                                      1+1+1 

 

    13. • Forests are large areas covered with a variety of trees and plants. They experience 

different climatic conditions.                                  1+1+1 

    • Grasslands are found in areas that receive moderate to low amounts of rainfall. They are 

generally dry and windy.  

   • A desert is a type of habitat characterised by extremely hot and dry weather during the day 

and cold weather at night. It receives very little rainfall throughout the year. 

  • A mountain habitat exists in high-altitude regions. As some of these regions may experience 

snowfall during the winter, their climate is generally cold and windy. 

 

 

**********ALL THE BEST********** 


